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7 100kN/m%# 2% = s & 5 -|3mZEBZ S = < 5 -| 100kN/ Mm%z % g -~ 2 -|3m%E#BZ % 5 o # g
Fh st 1.00 000 ~ 534 66.60 | Tns | 0.00 ~ 0.00| 1.57 7.91 Fh st 1.00 | 6.00 ~ 6.30 66.60 | s | 5,00 ~ 630 1.57 7.91
2 100kN/m%# 2% - -~ - -|3mEEZD e - - -| 100kN/mMZ#8 % % - -~ - -|3m%Ei#BZ % sl
Fh st 1.00 1 000 ~ 693 87.74 | =nst |ooo ~ o0o00)| 1.77 8.92 Fh st 1.00 | .00 ~ 855 87.74 | #hst | 6.00 ~ 8565 1.77 8.92
3 100kN/ Mm%z % 3 = e - -|3mEEZD 2 5 - - -| 100kN/mM%#B 2% 5 -~ - -|3mZE#BZ S o
Fh st 1.00 {000 ~ 746 95.24 | =nst 000 ~ 746\ 1.82 919 Fh st 1.00 | 5.00 ~ 9.79 956.24 | #hst | 6.00 ~ 979 1.82 919
4 100kN/ Mm% 2% a = = . -|3mEEZD “ o : -| 100kN/ Mm%z % . -~ - -|3mEBZ D o
Fh st 1.00 |1 000 ~ 6.32 79.50 | =nhs |ooo ~ o000l 1.77 8.95 Fh st 1.00 | .00 ~ 740 79.50 | #hN | .00 ~ 740\ 1.77 8.95
5 100kN/mi%# 2% 2 2 B 3 -|3mEEZD s & 2 -| 100kN/mM%#B 2z % 8 -~ E -|3m%EiBZ % S
ZFh st 1.00 1 000 ~ 6.34 79.71 | =t 000 ~ 634 1.93 9.78 Fh st 1.00 | .00 ~ 800 79.71 | #hst | 5.00 ~ 800| 1.93 978
g 100kN/ Mm% 2% = 5l % -|3mZEBZ S = = 5 -] 100kN/ Mm%z % : -~ 8 -|3m%E#BZ % 5 o
Fh st 1.00 | 000 ~ 572 71.54 | #hst |ooo ~ 572 2.04 10.33 Fhst 1.00 | .00 ~ 7.60 71.64 | RN | .00 ~ 7.60| 2.04 10.33
7 100kN/ Mm% 2% 5 £ 3 -|3mEEZS 2 = - s -| 100kN/mM%#B 2% 2 -~ E -|3m%E#BZ % B
Fn st 1.00 |1 000 ~ 428 53.49 | =nst 000 ~ 428|217 10.94 FhList 1.00 | .00 ~ 6.00 53.49 | =hst | 6.00 ~ 600|217 10.94
3 100kN/m## 2% = -~ 5 -|3mZEBZ S =~ < s -] 100kN/mM%i#BZz% g -~ 2 -|3m%E#BZ % 5 o
Fh st 1.00 1000 ~ 667 84.24 | =nst | 000 ~ 667\ 1.96 9.589 Fh st 1.00 | 6.00 ~ 880 84.24 | #hst | 6.00 ~ 880\ 1.96 9.89
B 100kN/m#%# 2% i s - -|3mEEZD i - - -| 100kN/mM%#B 2% - -~ - -|3mZEBZ % s
Fh st 1.00 1000 ~ 455 56.80 | =nlst | 000 ~ 455\ 1.90 9.59 Fh st 1.00 | 5.00 ~ 6.00 56.80 | =hst | 6.00 ~ 5.00| 1.90 9.59
100kN/ Mm%z % o ImERBZD 5 100kN/mM## % % ~ ImEBZD =
Lt ~ Zhilst ~ ZhLlst ~ ZFhLlst ~
100kN/ Mm% 2% s ImERBZD e 100kN/mM%# % % ~ ImERBZD =
Lt ~ zhLst ~ Zh s ~ zhLst -
100kN/ Mm% 2% = ImERBZD & 100kN/mM#%#B 25 ~ ImERBZD ~
Zh st ~ Zhilst ~ ZhLlst ~ zhst ~
100kN/ Mm% 2% ~ ImEBZD = 100kN/mM## % % ~ ImERBZD ~
Zh st ~ Fhilst ~ Zh st ~ Zhllst =
100kN/m%# 2% o~ ImERBZD -~ 100kN/ Mm% 2% ~ ImERBZD ~
Zh st ~ zhst & zh st ~ zhLst =
100kN/ Mm%z 5 = ImERBZD . 100kN/mM## % % ~ IMERBZD ~
Zh st ~ ZhLlst - Zh st ~ ZhLlst ~




